
   User Instructions

Halfords Series
Item Code: 584067 Halfords 2 Tray Cart

Caution:
Read and follow all information in this owners manual before use. 
Keep for future reference.
                                                                                Halfords Ltd. Redditch, B98 0DE.

1



SAFETY

SAFETY WARNINGS  AND CAUTIONS
To avoid personal injury or product damage in use:
•   Do not stand or lean on/in the cart.
•   Always ensure the castor locks are on when stationary.
•   Only use this product on even, level surfaces to prevent it from 
    becoming unstable.
•   When loading, place heavier items on the bottom of the unit first then 
    load the top.
•   Do not exceed the stated maximum weights listed below.
•   Not suitable for mounting on a truck bed or any other moving objects. 

2

Product Specifications

714mm

41
0m

m

88
3 

m
m70
0 

m
m

81
8 

m
m

783 mm

714 mm

Tray Dimension: 707 (W) x 403 (D) x 91 (H) mm
Maximum Weight per Tray (x2): 50KG



OPERATION

3

(1) ATTACHING THE UPRIGHT SUPPORTS TO 
     TRAYS AND SIDE HANDLE

10

4

11

9

1

2

5

3

6

7

8

Part Description   
1 TOP TRAY  
2 UPRIGHT SUPPORT  
3 TUBE HANDLE 400mm 1

10 SWIVEL CASTOR 
WITHOUT  BRAKE  

8 NYLON NUT M8,BLACK  

9 NYLON NUT M6,BLACK  

4 BOLT M6*14mm,BLACK  
5  5  

6 SWIVEL CASTOR
WITH BRAKE  

7    BOLT M8*12mm,BLACK

11 BOTTOM TRAY  

 

1. Locate the bottom tray (11 - with additional castor holes). 
2. Ensure the 4 upright supports (2) are correct way up (see drawing) and place the hooked 
    sections onto the bottom tray. Loosely attach them with the bolts (5) and nuts (9).
3. Fit the top tray (1) into the slots on the upright supports (loosen the lower bolts more if 
    required). 
4. The handle (3) can be placed into the lower or upper mounting holes either side of the 
    trolley. Use the longer bolts (4) and nuts (9) to install the handle.
5. Fit the remaining nuts and bolts to the top tray and uprights, Square up the unit and 
    tighten all securely.

Qty
1

1
4
 

2

16

20

2
18

2

16 

1

BOLT M6*10mm,BLACK



MAINTENANCE

4

(2) ATTACHING THE CASTORS
1. Lay the cart down on its back. Use the packaging material to protect the paint finish.
2. Mount both swivel castors with brake (6) on the same side of the cart as the handle.
3. Attach each castor using 4 bolts (7) and nuts (8) per castor.
4. Return the cart to its upright position. 
 

Castors should be lubricated periodically.(See 
Halford’s lubricant range). Hardware (nuts, bolts，
screws) should be tightened periodically to
maintain trouble free operation.


